LESSON 14-1

Practice and Problem Solving: A/B
1.r=3; 243, 729, 2187
2.r= 1; 12, 4, 4
3 3
3.192; 12
4.1575
5.d=5; 26, 31, 36
6.d=-3;-5,-8,-11
7.151t
8. $1871.77
9.B,C,D
10. o4
3
LESSON 14-2
Practice and Problem Solving: A/B

1

- 3(4)°, 3(4)", 3(4)%, 3(4)°, 34"
f(n) = 3(4)""*

Q) =11;f(n)=f(n-1)J2forn> 2.

3.f(n)=2.5@3.5)" !

10.
11.
12.

1 n-1
f(n) =27 [EJ

f(1)=-4;f(n)=f(n-1)005forn>2
.r=4;f(n)=90(4)" *

r= %;f(n):lG(O.S)”‘l
r=3:f(n)=2(3)"*

1 . ~ E n-1
=g a; = 90; f(n)_go(gj

r = 1.0025; f(n) = 18000(1.0025)" ~*
f(5) = $18,180.68
f(60) = $20,856.96



LESSON 14-3

Practice and Problem Solving: A/B
1.y=6(3)"
2.y =5.25 (0.25)"
3. 3, 3,3, 6, 12
4 2

f(x)

)}

N

E -3
-\

4.16,8,4,2,1
f(x)

)]

=10.-8 ~6 —4 -2 0] ‘2 4 6 8 10




LESSON 14-4

Practice and Problem Solving: A/B

1.1,2,4,8,16;a=4, b =2, y-intercept =
4: end behavior =0,

f(x)
- 16 -
121 | |
la | /
| [ [ ] x
—2/-hlof1]2[3]4a

2. i,i,i,l,B; a= i, b =3, y-intercept =
27 9 3 3
%; end behavior = 0, o
A f(x)
16+
INEENEE )
“ // .
< 1 | X
—2|-nlof [1]12[3]4
3. —E,—§,—3,—6,—12; a=-3,b=2,
4 2
y-intercept = —3; end behavior = 0, —
ft
2 : 2.4.6:8 10; W

4.12,6,3,—,—; a=3,b= 1 y-intercept =
2 4 2

3

3;

end behavior = 0, «©
4 flx)
|

3

.




